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Vol =
FER N E
T4 | ZIJIRERX S EE R TH
TSy « TfE - FER B {7 ¥ & & # A bl A iR
FLLt - X 1 25,771, 789
LT = 1 16, 020
HRHEI T = 1 16,020 |#EH! 50 m3
i A7 iy b PR PEEME 5, 000m3A T ;
LR L 2 1 9,711, 838
e+ T 2 1 1,239,019 |FRIEY 1 X
+4)
HEL 1 2V
+4)
HEL 1 2V
+4)
HmEEE 1 =X
T wb AT 1 =X
0 CaBl- EHIRY £5Te) ;
e 1 =
B2 A couE
2/ =p7 " my ) T (R EA7 vy ) 5R) =Y 1 8,097,004 |HIIEHTHLAEa ) -} 50 m
18-8-40 (75 47) JEIE 55cm & 50cm ;
BUEFT/ A 1kay)) -} 1 E10
(A) 18-8-40 (FH7) ;
BUEFT/ A 1kay)) -} 1 E10
(B) 18-8-40 (Fi4F) ;
&7 ny 5k 308 m2
150kg/{EAT 122 350mm VEHEH7 FEAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;
H Hx 16 m2
T W B i =10 ;
Bl HT Ruiav - 50 m
18-8-40 (&)
AT REY T 2 1 375,725 | FAEa /) -} 25 m2
18-8-40 (& 7) t=35cm ;
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TH4 | ZHITREMX SEFE RS T

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
FRIE D T = 1 3, 303, 948
FRIE D7 ny) T X 1 2,892,448 | YHIEARE 7 ny s HULE 68 1l
PEAERISEALT vy 77wy ) flidE (G2 R) 2. 147
t
HRE D7 vy s HEft 68 ]
W7 my) 7 ey FERE (R &) 2.147t 7 wy)
[N
VAR E 7 ny ) i 68 &
2.5tPAF FEHAA-HRATT (JBFE) 58 9. 5kmLL T
T X 1 411,500 | fHIFKav)-} 10 m3
18-8-40 (B JF) ;
W HH U BG4S 150 m2
WA t=10mm ;
HEE L = 1 1,537,499
e LT it 1 1,341, 314 |37 )Ml B L 33 m3
MRS BblE T
ERZE IR 52 m
)~ MEEERR 15emZ 88 2 30emPL T ;
WEEEAE 148 4%
2t
TR AL T = 1 196, 185 | kL 33 m3
av ) -bik (BER5)
By 33 m3
av ) -bak (BERR)
G an = 1 11, 202, 484
THEHER T =X 1 10,791, 724 | TH HE KK 1 =X
BRDF 1 =
KD H 1 X
AR IEE BT 2 1 410,760 | ASIEmEHEELE S 1 =
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R PERE
THE4 | ZIWIREHK R ER AN TH
THEXSy - THE - FE5 H7 & & # i Gl 2 N

[P % 2V 1 25,771, 789
Hm IR E E20 1 2, 859, 000
e Tre: X 1 331, 000
BUGBREIUEL (REH L) 2V 1 331, 000
sty (R L) 2V 1 2, 528, 000
ol T 2V 1 28, 630, 789
e R E20 1 9,917, 000
T AT 2V 1 65, 184, 054
— e PR E20 1 11, 295, 946
N E20 1 76, 480, 000
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Vol = =
FERL R i
TE4 | B KEHK S ERE RS THE
TEHEX Sy - THE - R A ¥ = & # il pall 2! EN
g - 2y 1 16, 842, 969
LT = 1 122, 381
T x 1 961 |Hil ’ "
i A7 iy b PR PEEME 5, 000m3A T ;
Bt =X 1 121,420 | B&IK (BL88) Bk 20 m3
2. 5mATH
TR T X 1 5, 630, 067
fE¥+T = 1 467,126 | RIE YD (HEH)) 1 E2
s ;
PR 0 1 E2
+H
WRL 1 X
+H
IR Lav))—h 1 £
18-8-40 (BJF) W/CHIEZ R L ;
FEEEE 1 X
FEHA O-27) 1 E20
(et v b 2s)
W S TR ImPL E2mA T
T H S 1 E2
+wp CEHR - ERIRY LET) ;
e 1 2V
B2 A couE |
ayp)=17" wy ) (@) =87 ny JfE) =Y 1 4,493,066 |~ =74vav))-} 1 X
18-8-40 (BJF) W/CHIEZ R L ;
G/ A 1kav)) - 1 (&0
18-8-40 (B ) ;
avy )= (1) 77 ny )i 136 m2
JIA - BEARE () 53 m3
FHAMEA RC-40 ;
H Hibx 4 m2
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Vv = =
FEENFRE s
T4 | ZIJIRERX S EE R TH
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
TR AHERT B M t=10 ;
Bl HT Rbiav - 27 m
18-8-40 (&)
H#RT R L 2 1 669, 875 | ARV )—} 51 m2
18-8-40 (& 47) t=35cm ;
NS 7 m2
FRIE D T = 1 43, 680
FRE ST ny) T X 1 43,680 |4EESEA 8 %
EE&E
2t
HEE L = 1 1,039, 582
e LT it 1 746,810 |2/ -MEEHEE L 53 m3
MRS BblE T
ERZE IR 11 m
)~ MEEERR 15emZ 88 2 30emPL T ;
FRIE D7 ny s 8 &
1t
R E A 38 =
2t
TR AL T = 1 292,772 | BoEM 53 m3
av ) -bik (BERR)
By 53 m3
av ) -bak (BERR)
% T = 1 10, 007, 259
THEHER T =X 1 9,669,849 | T3 HE KL 1 =X
BRDF 1 =
HERAR 1 X
KD H 1 X
o5 F 1 =K
RIEET =X 1 337,410 | RiBFHEZEE 1 2V
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== /oA = =
FEAENGRE e
T4 | ZIJIREMK K EE IR T HE
TEHX4y « Tfd - FER B Az W B & #A i il A R
[ERAE Xy = 1 16, 842, 969
HiE R 2 1 2,523, 296
BISTIGE: = 1 735, 296
TERE 2 1 500, 296 | {2 bR 1 =
(fEH)
IR A T 1 =
(185%)
BGRESGESE (5 L) = 1 235, 000
B (R = 1 1, 788, 000
T = 1 19, 366, 265
Bl gy 2 1 7,270, 000
T =5l = 1 26, 636, 265
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